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QUESTION 1

A customer has a requirement that an external auditing system must be updated when specific Cloud Templates are
released.

Which combination of event topic and subscription filter would meet the customer\\'s requirement? (Choose two.)
A. "Cloud template version configuration" event topic

B. "Cloud template configuration" event topic

C. No filter

D. Filter on "blueprintld”

E. Filter on "eventTopicld"

Correct Answer: BD

QUESTION 2

An architect is completing the physical design for a vRealize Operation (VROps) solution for a customer. The customer
has only provided the following information for their existing environment:

500 Virtual Machines 2 VMware vCenter Servers 10 VMware vSphere Horsts 20 Datastores Live data should be stored
within the vROps solution for 6 months The RTO for all existing management components is 4 hours The RTO for all
existing management components is 1 hour

Which two assumptions could the architect make when sizing the vROps cluster? (Choose two.)

A. The vROps cluster will be configured as High Availability.

B. The RTO of the vROps solution will be 4 hours.

C. The resource profile of a virtual machine will be, on average, 1 vCPU and 2 GB RAM.

D. The minimum data retention within vRealize Operations Cluster will be 12 months.

E. The RPO of the vROps solution will be 1 hour.

Correct Answer: AB

QUESTION 3

A customer wants to design and deploy Workspace ONE Access to provide multi-tenancy for vRA 8.x
deployment.

Which two designs decisions would achieve the customer\\'s requirement? (Choose two.)

Note: SAN stands for Subject Alternative Name.
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A. Configure a certificate with multiple SAN entries for Workspace ONE Access.
B. Configure SSL termination on the load balancer for Workspace ONE Access.
C. Configure SSL bridging on the load balancer for Workspace ONE Access.

D. Configure SSL passthrough on the load balancer for Workspace ONE Access.
E. Configure a certificate with a single SAN entry for Workspace ONE Access.

Correct Answer: BE

QUESTION 4

An architect is designing a vRealize Log Insight cluster for an organization with the following requirements:
The organization has an external load balancer available to provide load balancing for various
requirements.

Due to budget constraints the organization need to reuse existing environment as much as possible.

What should the architect choose as the load balancing solution for the vRealize Log Insight cluster?

A. Use the integrated load balancer

B. Deploy a new external load balancer

C. Use the existing external load balancer

D. Use both integrated and external load balancers

Correct Answer: A

QUESTION 5

A customer wants to collect data from 120,000 objects and given the vRealize Operations sizing guide: (See exhibit.)
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vRealize Operations Node

E::;Tl Small | Medium | Large  ExtraLarge
Configuration
VCPU 2 4 | 8 16 24
Default Memory (GB) 8 16 ' 32 ! 48 [ 128
F Maximum Memory Configuration (GB) N:’ﬁ; I _32__ 64 i 96 r N/A
Objects and Metrics
Single-Node Maximum Objects 350 5,000 15,000 20,000 45,000
Single-Node Maximum Collected Metrics T{J,OO_O 800,000 4_2,500.0001 4.(2'00.0(3"3?1(),0(]0,!3!9{51.1
Maximum number of nodes in a cluster 1 2 8 16 8

Assuming the customer has no requirements for continuous availability or high availability, what recommendation for the
quantity and type of nodes should the architect provide?

A. 3 Extra Large Nodes
B. 6 Large Nodes

C. 12 Large Nodes

D. 8 Medium Nodes

Correct Answer: D
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